Precalculus Name:
C.7 Review

SHORT ANSWER. Write the word or phrase that best completes each statement or answers the
question.

Solve the system algebralcallg
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3) A theatre sells two types of tickets to their plays; childkeny's tickets and adult k)]
tickets. For today's performance they have sold a total of 945 tickets. Also, they
have sold 4 times as many children's.tickets as adult tickets. How many children
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Fmd the dimensions of a rectapgular enclosure w1th penmeter 40 yd and area
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Find the matrix product, if possible.
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Determine whether the matrices are inverses.
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Find a row echelon form or a reduced row echelon form, as indicated, for the given matrix.
8) Find a row echelon form for the matrix.
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Use Gaussian elimination to solve the system of equations,
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y linding the reduced row echelon form for the augmented matrix.
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the
question.

Write a system of inequalities whose solution set is the region shown,
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Solve the system of equations by using an inverse m
11) -5x +3y= 8§ [a j [ ] i)
2x -4y =20 "L{ -0
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Answer the question.

12) Find a, b, and ¢ so that the graph of the equation y = ax2 + bx + ¢ passes through  12)
the points (5, 97), (3, 41), and (2, 22). a('s)}_‘ b('s) yo =9
AS a_+Sb tC =97 a(3)” + b®) tC =Y

Ta B reaHl g»®rpm+c =33
cogp/ +2p+e = QA

Graph the system of inequalities. Shade the region that represents the solution set.
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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the

question. (0,0 )
LS '
Solve the system of inequalities. @ -1 ) @ O> 04 o UL
16) 3x -2y =<6 ' ’ 16)

Solve the problem.

17) Find the maximum value of P = 8x + 12y subject to the following constraints. 17)
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Sketch the graph and show the feasible set
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Find the partial fraction decom

position.
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